GENERAL SCIENCE — PERIODIC TABLE — PART 1

1. The law of Octaves' was proposed by: /3Ty &1 A Fas FCIRY gTdrfad fhar arar o
(a) Johann Dobereiner /SITgT S\Is\leo-N

(b) Alexander Newlands/3Tol&aisT FZIﬁS?—T

(c) Lothar Meyer/dr2R AIX

(d) Dmitri Mendeleev/fEAAT Hsella

RRB NTPC 08.04.2021 (Shift-1) Stage Ist

e The Law of Octaves was proposed by John Alexander Newlands in 1865. He arranged all
the elements known at that time into a table in order of relative atomic mass.

o 3ffereH &I A 1865 F SileT 3eleFoist #el5d GaRT T fohar arm 1| 3egiel
wmmmﬁaﬁﬁaﬁmﬁwacwm & ShA H Teh difclenl H sIafedd
T 2|

2. Which of the following resembles the 10thelement in Newland's periodic classification?

ATt & & st &1 7l & 3Mmafties guffentor & 108 ded @ AT STeldr &2
(a) Third /fA8TS

(b) Ninth /atar

(¢) Fourth /ater

(d) First /9gel
RRB ALP & Tec. (20-08-18 Shift-I)

e British chemist John Alexander Newland developed the octave rule in the year 1865.

o TSN THRIST SileT Tetaraist 7gals o a¥ 1865 # 3ifered fAa# asnfaa foma|

3. Elements .......... were placed in the periodic table of Newland with halogens. /dcaf .......... Co)
golloTel & 1Y #els & 3Tad TR 7 1@ ar=m &7

(a) Mn and As

(b) Fe and Se

(c)Ceand La
(d) Co and Ni
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RRB ALP & Tec. (30-08-18 Shift-II)

e Newland formulated the Octave rule and for this rule he prepared a table in which cobalt
(Co-27) and nickel (Ni-28) were placed in the category of halogen elements.

o Tois & HieFed HAIH o1 3R 5H TH & fIT 3ogial Ueh drferent AR hr forasd
PleTeT (Co-27) 3R Toehel (Ni-28) T gollolel dcdl ol AUfY 7 I@T 17|

4. Which of the following elements was the last element in Newland's law of octaves?

[AFATATET 7 | et AT ced 7gels & 3r5eeh g 1 3ifA dea ar

(a) Bromine /ST#HTeT

(b) Hydrogen /gTS8Iolel
(¢) Thorium/ARIH
(d) Rubidium/®feaf3g#

RRB ALP & Tec. (31-08-18 Shift-I)

e John Newland was an English scientist. They groupsified known elements up to that time
in increasing order of their atomic masses. By the time of Newland the number of known
elements was 56.

o Silel =gels Teh 3ot dATTeleh A| 3egial 3H HAY Teh AT eal ol SeTeh GHTI]

GEHATST o TGl Shl H HHGIh TohdT| oIS o FHY Teh ATl dedl hl HE&AT 56 AT

5. According to Newlands' law of octaves, how many elements exist in nature‘?/o-q‘ﬁ.sé{-l % 3SCh
fATH & TR Jpfa A et dca Al &2
(a) 56
(b) 66
(c) 55
(d) 65
RRB ALP & Tec. (20-08-18 Shift-111)

e According to Newlands law of octaves 56 element were exist in nature. In 1865, the
British scientist John Newlades arranged known elements in ascending order of atomic
mass.
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o YA & 3o ATH & ITAR YH{d 7 56 ded Al A1 1865 A fafeer aafasn
Silel ~YeISH & AT clcdl ol IHTU] SeT AT & IRIET shed A eqa ey fohar

6. Who discovered that the properties of every eighth element are the same as the first element?

/fFE= QIS o Tedsh 31M6d ded o I[0T U ded o FHA 87

(a) Newland /%
(b) Mojle /ArsTer

(¢) Doberiner /3R]
(d) Mendeleev/HFsella

RRB ALP & Tec. (21-08-18 Shift-111)

e In 1865, Newland showed that when the elements are arranged in increasing order of
their atomic masses, the every eights element has same properties the first element.

o 1865 H, 7ois ¥ femr f&h ST cedl bl 3eTeh TATY] g AT o F6d shel H cIA YT
foham SITaT 8, A Ycdeh 31Tad dcd & 9[0T Ug el ded & HATA gl & |

7. According to Newlands rule of octaves, ....... , Which resembles cobalt and nickel in properties,
is kept far away from these elements. /o-*’-l‘\elvsi-l % e AT HJHM, ....... , Sl U;I'Uﬁ H

hiaTee 3R foiehel & TR Selll 8, 3o dedl @ G I@T AT B |

(a) Al
(b) Fe
(c) Mn
(d) Mg
RRB Group-D 10-10-2018 (Shift-11)

e Newland placed cobalt (Co) and nickel (Ni) in a group on the same property, while iron
(Fe), which has the same properties as cobalt (Co) and nickel (Ni), kept it far away from
these two elements.

o oIS o FlaTec (A3 R Tehel (1) I Teh € T W Teh Hg H W, SAeleh lig
(Th3), TSaH FisTee (H13M) IR et () & FHrT oT 8,
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8. According to Newlands' law of octaves, 'iron', which resembles ....... and ..... in properties,
iskept far away from these elements -

=gASH & 35eeh TTH & AR, e, ST AON A ... 3R .. & FHAGA GIaT 8, $oT cledl &

gl g I ST -

(a) Co and Ni
(b) Ni and Mn
(c) Coand Cu
(d) Cu and Ni
RRB Group-D 19-09-2018 (Shift-1)
RRB Group-D 10-10-2018 (Shift-111)

(a) Magnesium AT
(b) Zinc &%
(¢c) Calcium /HToRITH

(d) Bromine/siT# st
RRB Group-D 10-12-2018 (Shift-111)

e The rule of octaves was applicable only to the calcium. In 1865-66, an English scientist
John Newlands formulated the Octave Rule.

o 375Ceh &I [ITH halel HToRIIAHA T AT Il AT| 1865-66 H Teh 73St FATTA SileT
eigd & e faH et

10. Newlands' octave rule applies only to ............. element./o-q“c:i“sj{-l T 3TSCoh [T hael

(a) Sulphur /Heth
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(b) Calcium/&ToR=IH
(c) Pottasium /e
(d) Chlorine/FeiIeT

RRB Group-D 05-12-2018 (Shift-II)
RRB JE CBT-II 28-08-2019 (morning)

11. Name the German chemist who grouped elements into triads in 1817.

3 S (A I AH IS S& e 1817 & dedl 1 3 & @ogiha fonar |

(a) John Newlands

(b) Henry Moseley
(c) Johann Wolfgang Dobereiner
(d) Dmitri Ivanovich Mendeleev
RRB NTPC 20.01.12021 (Shift-11) Stage Ist

In 1817, a German Chemist Johann Wolfgang Dobereiner arranged the elements with similar
properties in a group. Dobereiner Triad is based on three elements group. He was the first person
who started grouping of elements on the basis of atomic weight.

817 #, Teh ST THIA SilgleT dlethdlal SIeRISeR o HATT U dTel dedl @l Teh
THg A Hafeud fham| SIasaR s il deal & HHg W 3R g1 98 9gel
AfFd & fSegledl WAY] HR & YR W dcdl H A elall Y& Fha|

12. Which one of the following triads represents the Dobereiner triad?/fe@Toli&d & & et
A 3T SR 3T & JidfAf®ca aar g7
(a) Li, Na, K
(b) Li, Ca, C1
(c) Na, Sr, Br
(d) Li, K, Na
RRB ALP & Tec. (10-08-18 Shift-11T)
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e In the early 19th century a German chemist, John Dobereiner, divided the elements into
groups of three based on their properties. These groups are called triacs or triads.

o 1987 HEN &I YBINA H Teh STHel THAA, SAIgTeT SIakIge o cledl @l 3oloh
IO & YR W el Togt A fAsnfaia frar| s Toqgh a1 B a1 g wgr
ST gl

13. The first and third members of the Dobereiner triad are phosphorus and antimony, the second
member of this triad is-

SIRTSAR T & Tgel 3R R FeTT BEERA IR GIAT &, 58 IT & g AT
3

(a) Todine /3TTAISIT

(b) Sulphur /He®HT

(¢) Calcium /hToRTIH

(d) Arsenic/3TH s
RRB ALP & Tec. (13-08-18 Shift-111)

e Dobereiner identified some groups with three elements that had similar properties. He
called groups of these three elements triads known as the Dobereiner's triad law.

o SIRBH o ofieT deal aT F& GGl HT Igarel &I [Seteh 0T TAT A| 3ogled
gel diel dcdl & HHGH &l 3 gl [See SteigeR &1 ¥ aH gl S &

14. Group of modern periodic table. . . . . .. In, an element with electronic configuration of 2, 8,
6 is placed.

ryfae 3mad RO T gHE. . . . . . . #H,2,8,6 & SolFcliclsh [Q=ITH dTell Ueh dcd
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RRB Group-D 25-10-2018 (Shift-11)

15. Which of the following is the third member of the Dobereiner's triad, which also includes

lithium and sodium? /fAFATAET H & FlaT AT SARBA TFS HT dRRT TG g, T
forfaae iR af3gs o anfaa &

(a) Potassium /TCTATH
(b) Boron /@RIl
(c) barjum/SRIH

(d) hydrogen /gTS8ISTe]

RRB ALP & Tec. (13-08-18 Shift-I)

e The Wolfgang Dobereiner's stated that the atomic mass of the middle element is
approximately the average of the atomic mass of the other two elements, when the three
elements of the triplet are placed in ascending order of their atomic masses.

o ACHIAI SRISH o Fgl fF HET ded FT WA GIA 3w ¥ deal &
URATY] e AT HT el N &, 59 ek & el deal & 3o GAT]

GSTHATT o 3RIGT e H IW@T AT g

16.......... Melting point is very low. /. ... ... .. Il Sgd giar &,

RRB Group-D 15-10-2018 (Shift-1I)

e Gallium (Ga) is a soft and shiny metal with a melting point of 29.76°C, which is
extremely low, its atomic number is 31. It is used to make semiconductors and alloys.

o A (M) T A IR TASKCER Ui § ST TAh 29.76 39 dfcwaw
g, Sl 98 e g, Sl GXATU] H&AT 31 8| SHHT IUANT Heareln 3R B
U1 S & o fohar e g
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17. Dobereiner made the first observation of........ as a catalyst. /SISRTSR o 3c0Reh & T H
........ T UgelT 3dellehed fhaT|

(a) Au
(b) Ni
(c) Pt
(d) Ag
RRB Group-D 15-10-2018 (Shift-1I)

It was Dobereiner who first observed platinum (Pt) as a catalyst and discovered similar triads
that led to the development of the periodic table of elements.

I SNBR & I [Segiel TaH Ugel Tolfeaad (e Fl 3 & &9 H @ 3R 4T
RE & B B @IS $ S8 It Hr ad aRof w1 fawr g3

18. According to Mendeleev's Periodic Law, elements were arranged on the basis of ............ in
the periodic table?

Asell® & 3Mad e & 3qER 3Mad AR & deal A1 ... % 3R W
g eyd fhar arar am

(a) increasing atomic number
(b) decreasing atomic number
(c) decreasing atomic masses

(d) increasing atomic masses

RRB JE 26.05.2019 (Shift-1IV)

19.How many elements were known when Mendeleev began his work?

SIS ASollg & 39T e & fohar o T deq A A2
(a) 65
(b) 64
(c) 66
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(d) 63

RRB Group-D 20-09-2018 (Shift-111)

e In 1869, Russian chemist Mendeleev made a periodic table of 63 elements based on
atomic mass.According to Mendeleev's Periodic Law, the physical and chemical
properties of elements are a periodicfunction of their atomic mass.

o 1869 #, Tl WWIAA HSelld o TAV] GeIAT & HUR W 63 dedl H Th
e ARON SIS | ASelld & el IH & 3ETER, dedl & #ifas 3R
TR 0T 3oieh RAY] GeHAT & 3ad H g

20. In the Mendeleev periodic table, gaps were left for undiscovered elements. Which of the
following elements later found a place in the

periodic table? /H3elid FiI 3Tad IRON F AW dedl & AT 3iRTer S5 fer arr
u7| AFafaf@a # & 69 deg &1 a1g H T2 A
(a) Ge
(b) F
(c) Ca
(d) Mg
RRB JE 31.05.2019 (Shift-I1I)
RRB Group-D 22-10-2018 (Shift-II)

Mendeleev made the periodic table by classifying the elements based on their atomic

weights./HSelId & Teal I 3elch WA HR o MUR G Fafiehe] Feh 3Tac GROM
TS|

21. In Mendeleev's periodic table, the vertical columns are called ....... and horizontal rows are
called ........? /HSEN® &1 3ad RO H FeaeRw TG & ... AR &fas afFaar a1
........ $gl ST &2

(a) Period, row
(b) Group, period
(c) Column, category

(d) Column, row
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RRB Group-D 22-09-2018 (Shift-11I)

RRB Group-D 27-11-2018 (Shift-ITI)

e The Russian chemist Mendeleev gave the periodic rule in 1869 according to which 'the
physical and chemical properties of elements are the periodic function of their atomic
masses'.

o & WA ASelld & 1869 H 3ad A7H fear foraeh 3aR deal & #ifas
3R TS 0T ek WAY] GeHAT & 3ad Belel gl

22. Between the chemical properties, Mendeleev focused on compounds made with these

elements. AT 0N & o, ASelld o o dedl & Fa1 AfART W e e fowar

(a) Carbon and Hydrogen /&Teel 3R g83Iel

(b) Carbon and Sodium /e 3R Aifsas

(¢) Hydrogen and sodium /gT83lel 3R @fsga
(d) Hydrogen and oxygen/glgalelel 31X iTerETSTeT

RRB ALP & Tec. (10-08-18 Shift-I)

e Hydrogen and oxygen are reactive elements and form compounds with almost all
elements, so Mendeleev studied the chemical properties of compounds mainly composed
of hydrogen and oxygen.

o EIB3Ie 3R 3T gfatshanefiel dea § 3R o@rerer &@eft deal & @y
Iifdteh S=rd 8, safaT AST o &I &9 & grsgiolt 3R e ¥ oo
IRt o A AR 0N HT 7EATT fohar|

23. In Mendeleev's periodic table, the periodic nature of properties of the elements considered on

the basis of....... 2/ I 3Mad AR & dcdl & 0T HT 3Mad Tpfd @ ... &
YR O AT =T ¢

(a) Atomic number /9YHTI] &
(b) Atomic mass /IYHTV] geIHTeT

(c) Atomic size /ATHTI] TR
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(d) Tonization enthalpy/3TTeiIehi 0T TededT

RRB ALP & Tec. (09-08-18 Shift-I)

e In Mendeleev's periodic table, the properties of elements are considered to be the periodic
nature of their atomic masses. According to Mendeleev, "The physical and chemical
properties of elements are a periodic function of their atomic masses."

o ISP HT At ARON F JedT & AU P 3o IHATI] GIAT HT A
Ipid ATAT SATCT §| HSelld & AR, "dedl & #Hifdd IR T@EfAS o7 30h
TRATY] GeIAT T Teh 3afteh s &

24. Mendeleev's periodic law states that the properties of elements are the periodic function of

their JHSENE T 3ad faH Fgar § fF dcal & a[or 36 & 3ad

waw B

(a) Metal /84T

(b) Non-metal/ﬂ?—ﬁﬂﬂ

(c) Atomic number /9THTIT q&ar

(d) Atomic masses/quUl acTHTT

RRB JE CBT-II 29—08-2019 (evening)

25. Which of the following elements could not find a definite position in Mendeleev's periodic

table? fAFATATET & @ &7 &1 ded ASNE Hr 3mad ARON F v ARTT T>1=T F7ET
qr Heh1?
(a) Sulphur
(b) Nitrogen
(c) Oxygen
(d) Hydrogen
RRB Group-D 19-09-2018 (Shift-1)
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e In Mendeleev's periodic table, hydrogen is placed at two places due to their similar
positive properties with alkali metals in the first group (I-group) and their similar
negative-electronegative properties with halogens in the seventh group (VII-group). is
kept. But placing hydrogen in both groups (first and seventh) is defective.

o H3eNg I e GRUN H, g HeE (ITS-HAG) H &R UG & Y 3olh
AT FhRIcAS 0N 3R Add FH (VII-) H gelloled & TTY 3eTeh THTA
APRIcHS-[AeTT HUTcHS ION & HRUT gTSZIoleT HI al T I I@TN AT &
THE)| 1@ -7 §| oAfeheT gISglolel &l alel TG (T8l 3R AIdd) H e
aryqut Bl

26. In Mendeleev's periodic table,  before the nickel? /Aol $T 3mad ol H, Aee O
ggel?

(a) Sr

(b) Rb

(c) Co

(d) Mo

RRB Group-D 04-10-2018 (Shift-I)

In Mendeleev's periodic table, the Cobalt appears before from Nickel./Hgelld T 3Tad ARl
H @idTec e ¥ ggel 31T &

27. The classification of elements by which of the following leads to the discovery of new
elements?

(a) Newlands /th\ﬁ's'
(b) Mojali/HTsTel

(c) Mendeleev /Hcelld
(d) Dobreiner /3T

RRB Group-D 01-10-2018 (Shift-II)
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A total number of 118 elements are currently known. Mendeleev has been a major contributor to
the classification of elements/dd#TeT & $el 118 dcal T FEAT AT gl dedl & Fafiepor

A AN &1 W AN T &

28. In Mendeleev's periodic table, in what order were the elements arranged? /A=sellt T
AT ARON H Tedl 1 A A # cFafeyd fhar a/@m am

(a) In increasing order of atomic masses /AYHTU] geIdHTeT & Fod FH q

(b) In decreasing order of atomic masses /IXHTV] G e & "ed HH H

(¢) In increasing order of atomic numbers /9IHTI] HHATD b d6d P H

(d) Decreasing order of atomic numbers /9IHTI] HEIT FT gedl HA

RRB Group-D 26-10-2018 (Shift-111)

e Russian scientist Dmitry Mendeleev arranged the elements in the periodic table in
increasing order of their atomic masses.

o T danifaieh AR HAelld & el 1 3eTeh WAY] Geg AT & dod HA A
3Mad RO # gafeud

29. Mendeleev's Periodic Table in_ Was published in a German magazine.

ﬁ%@a@rmﬁrwﬁwaﬁaﬁwﬁwﬁmg@zﬁl

(a) 1874
(b) 1873
(c) 1871
(d) 1872

RRB Group-D 03-10-2018 (Shift-111)

e The first classification of elements was done by the Russian scientist Mendeleev (1869),
which was published in a German magazine in the year 1872.

o dcdl & YUH TINTRIUT THT dTTeTeh Hsend (1869) a1 fohar ar, S a¥ 1872 F
Waﬁaqﬁmﬁmagmml
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30. Which of the following elements replaces ecaaluminium in Mandeleev's periodic table?

[AFATATET & & Fle AT ded ASAH & 3Mad ARON H SHIT TegHITHIA Sl T
o &7

(a) Scandium/Th ST
(b) Gallium /ATerzeT

() Titanium/a'l?'??'ﬁl'q?:r
(d) Germanium/STH AT

RRB ALP & Tec. (14-08-18 Shift-II)

When Mendeleev's periodic table was published, the elements gallium and germanium were not

discovered./sTd AZeNd I 3Tad IRUN g g‘é’,?—lﬁ Ifod ik FHFTH acar &
@aa@rgé A

31. Which of the first element on the Periodic Table?/3Tad TROT & Ygell dcd $ieT IT %"?
(a) Oxygen/ﬁlﬂ’&hﬁl?‘f

(b) Hydrogen /gTS8I5TeT

(c) Nitrogen /FI'I??@GI?-T

(d) Carbon dioxide/aTeeT ‘s’rs'aa”msg

RRB JE 26.05.2019 (Shift-1IV)
RRB NTPC 27.02.2021 (Shift-1) Stage Ist

e Hydrogen is the first element on the Periodic Table. Hydrogen is the lightest element.
Hydrogen is the chemical element with the symbol 'H' and atomic number 1.

o 3Mad IRON H gIB3IeleT Ugell dcd gl EI53Ieldd TaH goohl dcd gl BI53Ield
U (HTE dcd ¢ forde Teie 'H' 3R 9] wAE 18]

32. Elements in the modern Periodic Table are arranged in vertical columns. /HTW

3ad RO H dcal & Fealer oAl & cuafeyd fHar = gl

(a) 18
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(b) 16
()9
(d) 12

RRB NTPC 09.01.2021 (Shift-1) Stage Ist

e As per the Modern Periodic table, its divided into 18 groups and 7 periods. The elements
have been classified into different categories such as metal, nonmetals etc.

o MY T TRON & AR, 58 18 THE! 3R 7 3madl & fasnfara fhar
g1 deal @ faffies A0 S e, 3renq 3nfe 7 Fefiehe foham aram B

33.Na, Mg, Al, Si, P, S, Cl And Ar are related to ......... period of modern periodic table. ?
Na, Mg, AL Si, P, S, CI 3R Ar 3myfeish 3maeh RO & ... e & Hefd g

(a) Second
(b) Fourth
(¢) Third
(d) First
RRB JE 26.05.2019 (Shift-111)

e Na, Mg, Al, Si, P, S, Cl And Ar are related to the third period of the modern periodic
table.

e Na, Mg, AL Si,P, S, CI 3R Ar 3Tefa¥eh 31acd GROM & &Y 3ad ¥ Hefed g

34. In the modern periodic table, the elements are arranged:

e e Aol ¥, aeat A cgated R i

(a) In decreasing order of atomic mass /AIHTU] GedHTeT & "ed A H

(b) In increasing order of atomic mass /9THTU] GeIHTe & FGd B H

(c) In increasing order of atomic numbers /tRTITUI HHATS H god A H

(d) Decreasing order of atomic numbers/9IHTU] T&IT T gedl HA

RRB ALP & Tec. (13-08-18 Shift-II)
RRB ALP & Tec. (14-08-18 Shift-III)
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e According to the modern periodic table, the physical and chemical properties of an
element are the periodic functions of their atomic numbers.

o 3MYfaeh 3 RUN & 3TAR, ol dea & &ifas 3R Tarfas o1 3o
ULATY] AT & el Bolel Bd ol

35. In which of the following groups of modern periodic table, noble gases are placed?/ﬁ%ﬁ?
3ad RO & FEafaf@d # @ frd @ & 3cpse A6t @ @ g

(a) 15

(b) 17

(c) 16

(d) 18

RRB ALP & Tec. (30-08-18 Shift-II)

e In the modern periodic table, elements of 15, 16, 17 and 18 groups are called elements of
nitrogen, oxygen, halogen and inert gas family respectively.

o 3MYfaeh e RO & 15,16, 17 3R 18 HG & cal HI HAA: ATSErl,
TS, geltoted 3R 31 9 aRar & dca Far STar &

36. If there are 12 protons in the nucleus of an element, then it belongs to group ........ ?2/afe o
ded & ATHS H 12 We §, a6 98 ... THE 1 ¢l
(a) 2
(b) 4
(c)8
(d)6
RRB Group-D 24-09-2018 (Shift-111)

If an element has 12 protons in its nucleus, it belongs to group 2./4f¢ fRdT Tca & =Tfds #
12 9IeleT &, o 98 g 2 ¥ Hefed gl

37. Select the Element which does not belong to the following group:
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3 ded H ghT B S AEfAfad qog @ aefd g &

(a) zinc/Toieh

(b) neon /fAaT

(¢) helium /&1ferTsT

(d) Xenon

RRB Group-D 11-10-2018 (Shift-T)

e Zinc is a member of the transition metal group with atomic number 30, while helium,
xenon, and neon are inert gases.

o TSioh AT &I 30 % WY HHAUT U] FHE 1 T g, Sidich Qi
FiT 3R At sfea T &

38. Atomic number of actinides. . . ... .. is? /ufdFe-133d T AT qEAT. .. ... g2
(a) 90-103
(b) 89-102
(c) 58-71
(d) 57-70
RRB Group-D 08-10-2018 (Shift-11)

e In Seventh Period of the Periodic Table, 14 elements Th (90) to Lr (103) ahead are called
actinide elements.

e Under this elements comes with f-block orbital.

e They are placed in a horizontal row outside down in the periodic table.

o Gd RO & TG AT H 14 ded Th (90) & Lr (103) AET deh TideAss
dcd @gelld ol

e 3% 3AId ded fsolish 3iifded & T1Y 3T &l

e Sog 3Tad RO H IgT T 3R AT fT 3R e AT ufead & w@r = g

39. Alkaline metals are placed in which group in the modern periodic table? /HT?W 3Tad
ARON & & a1q3it @ R @Hg & @ I 2

(a) Second group
(b) Eighteenth group
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(c) Third group

(d) First group
RRB ALP & Tec. (30-08-18 Shift-I)

e FElements of the [A-subgroup (excluding hydrogen) in the modern long-term periodic
table i.e., Li, Na, K, Rb, Cs, Fr are called alkaline metals while elements of ITA-
subgroups Be, Mg, Ca, Sr, Ba. , Ra is called Alkaline Soil Metals.

o 3MYfeieh Ereehiieleh 3MTac AROM H [A-3UHHAG (BTSZIolT I BISH) & dcd
I, Li, Na, K, Rb, Cs, Fr ol &TRIF €T &gl Sl § STafeh IIA-398Hg & dcd
Be, Mg, 1T, @Y, a1, , T 1 &T0F Hal 41 el Sfam gl

40. How many groups and periods exist in the modern Periodic table? /HT%%EF 3T ARofT
7 foraer wopg 3R 3mad Al
(a) 9 groups, 9 periods
(b) 7 groups, 8 periods
(c) 18 groups, 7 periods
(d) 8 groups, 7 periods
RRB Group-D 28-09-2018 (Shift-1)
RRB Group-D 15-11-2018 (Shift-1I)
RRB Group-D 15-10-2018 (Shift-1I)
RRB Group-D 26-09-2018 (Shift-111)
RRB ALP & Tec. (31-08-18 Shift-111)

41. Name the Noble gas placed in the third period and eighteen group of modern periodic table-

3MYfaeh e FRON & Y A AR 3eRE THE A W IS Al A F A
qaTST-
(a) Neon
(b) Krypton
(c) Helium
(d) Argon
RRB ALP & Tec. (14-08-18 Shift-I11)
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¢ In the third period and eighteen group of the modern periodic table, the noble gas argon is
placed. The atomic number of argon is 18. After nitrogen and oxygen, it is the third
largest gas (0.93%) of the Earth's atmosphere. It is used in industry and in electric bulbs.

o 3MYfaeh e RUN & AR 3Mad AR 3H6RE THE & 3cpse I T @l
@M a7 g 3T T WA Al 18 §| ATSeloled IR Ierdicl & dc Ig
gl & argASS A TN TEH TS AT (0.93%) &1 FHRT 3UTIT 3T 3R
fSorel & Foat & T S7ar &1

42. In the modern periodic table, which two periods have 8 elements?/w 3Tad AROT H
fohet Y 3mmadt # 8 dca &2
(a)4 and 5
(b) 3 and 4
(¢) 1 and 2
(d)2 and 3
RRB ALP & Tec. (14-08-18 Shift-11)

e The total number of horizontal rows in the modern longitudinal periodic table is seven,
called periods

o 3MYiAh ST e ARON A &t Uil B FHel TN Wi &, S JmaT
el STell &

43. The modern periodic table was discovered by ?/E%ﬁﬁ? 3Tad RO $r @reT fhas
GaRT I IS AP

(a) Bohr/aTgx

(b) Mendeleev /Hgelld

(¢) Einstein/3T8EIA

(d) Mosley /AEel
RRB JE 27.05.2019 (Shifi-I)

e Modern periodic table was discoverd by Henery mosley.
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o 3MYfaeh e ERUN &I Tl garll AT o i ol

44. Are the minimum reactive elements of the periodic table. /37T RO & e ddH
gfafsrareler aca gl

(a) Transition metal /FshaOT 4rd
(b) Alkaline soil metal /&TRIT fACEr oT
(c) Noble gases /3cehtC EIp)

(d) Alkaline metals /8T €TcI¢
RRB NTPC Stage Ist 28.04.2016 (Shift-I11I)

e The least reactive element of the periodic table is noble gas. Zero groups elements are
chemically inert.

o 3Tad WRON & I HA Flafharelicr ded Scpse 349 §1 T A F dcd
S §9 4 AfSha ga gl

45. Which element has atomic number 3? /8 dca T YYATIT $HTR 3 87
(a) Boran/aRTeT

(b Lithium /ferfaas

(¢) Beryllium/aRforgs

(d) Sodium /AT
RRB NTPC Stage Ist 28.04.2016 (Shift-II)

e The atomic number of lithium element is 3. The atomic number of boron is 5, the atomic
number of beryllium is 4. The atomic number of sodium is 11.

o YA dcg Hr WAL FEar 381 @R B wAC] FEdr s g, IRfowm H
URATY] HEAT 4 §| WSTH HT AT &7 118

element? /3-]T§1?IT=F

46. The sixth period of the modern periodic table contains the

3ad IOl & TS ad A Jca enfier &7
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(a) 18
(b) 8

(c) 32
(d) 33

RRB Group-D 22-09-2018 (Shift-1I)
RRB Group-D 26-11-2018 (Shift-111)

47. In the modern periodic table, which period has32 elements? /mﬂﬁﬁ? 3aa arofr & R
Had H 32 dcd 82

(a) Period 4
(b) Period 3
(c) Period 5
(d) Period 6
RRB Group-D 02-11-2018 (Shift-1)
RRB Group-D 03-10-2018 (Shift-1I)

48. What are the horizontal rows in a periodic table called? /3Tad ROl H &fdsr afFaar #r
AT Fgd 87

(a) Period /31af®r
(b) Group /g9
(c) Pattern /dcsT
(d) Valency /deidT
RRB Group-D 13-12-2018 (Shift-11)

In the modern periodic table, horizontal rows are called periods‘/wﬁgﬁ? 3Tad 9ROl 7
Sfasr gfgaat & 3ad Fel S ar gl
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49. In the modern periodic table, which of the following periods has the highest number of non-
metals?/wmmﬁmﬁﬁﬁmmﬁm@ﬁﬁm
oy 317 g7

(a) 4

(b) 1

(c)2

(d)3

RRB Group-D 05-09-2018 (Shift-111)

¢ In the modern periodic table, the number of non-metals in the second period is maximum
(C,N, O, F).

o 3IMYfeh ey ARV # qEY HEd F I T HEwr g (C,N, O, F) B

50. The element with atomic number 57 belongs to- /AIHTI] shleh 57 aTell ded fhad
(a) d-block
(b) f-block
(c) p-block
(d) s-block
RRB Group-D 22-09-2018 (Shift-I)
RRB Group-D 22-09-2018 (Shift-I)
RRB Group-D 17-09-2018 (Shift-111)

57 is the element of d block./57 AATH scllch T dcd %’I



